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UNIT 5 - Quadratic Equations JOURNAL

Big idea/Learning Goals

In the last unit you practiced how to work with quadratic expressions by expanding and factoring. In this unit you
will learn more complicated examples of where quadratics are used in real life. Here are some examples:

If you were to open up a business selling an item you produce, how do you maximize profit and minimize cost?
If you are an engineer, how do you find dimensions of a shape that will minimize cost of material yet maximize
space inside; or how to model a flight path of a launched rocket.

Finished How many Tentative TEST date:
questions did
jon.:rh:al? you finish g “lf)\/\ \ ‘D‘ec— Al \L
from HW?
Date Topics Questions to ask the teacher:
Complete the square 1
DAY 1 HW text pg270 #11,17
Solve Quadratics & Quad Formula
DAY 2 HW Handout — find online on mrsk.ca website 2
under this unit and this topic
# of Zeros & Graphs
DAY 3 HW Handout — find online on mrsk.ca website 13
under this unit and this topic
3days | Solve Word Problems WITH

Equations Given 14
DAY4HW text pg271#12,15,18 pg290#8,12,16

9
DAY 5 HW text pg301 #10,11,12,13,14

124
DAY 6 HW Handout — find online on mrsk.ca website
under this unit and this topic

3days Solve Word Problems WITHOUT

Equations Given 10
DAY 7 HW text pg272#16,23,24 pg280#8,11,14,17

n7
DAY 8 HW text pg311 #2,11,12,13,16,17,23

na
DAY 9 HW Handout — find online on mrsk.ca website
under this unit and this topic

Q Reflect - previous TEST mark , Overall mark now.

Calculate your potential final mark, show your calculations here:

potential final mark = (overall mark now)(0.40) + (future unit marks)(0.30) + (final exam marks)(0.30)

( )(0.40) + ( )(0.30) + ( )(0.30)

Looking back, what can you improve upon?
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DAY 1 — Completing the Square nates Th Touw RNAL SZS

E Standard form Factored form. Vertex form |
1 z :
| = axXtrbxt C 5 a(x-rYx-%) 3—— a(x-wy+ Kk :
| Tader Yo fnd vee eex (K |
e Goy:.m 2ecus. Veeex (T;},L ? !
R 2 afs v () SR
| Comnplide 5§ G opt. v 1 afi’ ordir,
1. Standard form 2. Factoreg form 3. Vertex form

y=(—2x2+187\)—1 yH 90D y=3(x—6)’-8

¥= 1 (e )x-4)
=E( % x- )

QJ Find Reos
~ ond

j=’ltli’+ﬁi> - |
-z -z

N

j: - Z(xlwqd +%) _s'(j;/)" |
Sum fod
X %

-y, +%_ -1z

e e
=y
_ = (% J5
g 2()(-4/1 - é) 4 2 ~3 4
wad. L (’1 - vy < )",g_
IR GREV AL " H
:—3/‘1,(_2!:
eo\l‘f\“/\(%)%) x:—:}’
g
2
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4. Rewrite each relation in the form
y =a(x— h)* + k by completing the square. Then,
sketch labelling the vertex and two other points
on the graph.
a)y =(2_x2 — 129+ 22
Az 2

:j“fl(xi—’ Cx+9 —9 /3 +3
MR e
= L (x-3 )y
avrdey. (3}\1) sk Q,’,,c e

2,6,00..-
D) (16 .
) @, 12
6

b)y=‘(—_}_c_2+2x+4
-3 _

=l
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5. Find the maximum or minimum Qalue )for each

Parabolal. ogt.v oA
a)y =—§x2 —_4/?—7

2 =)
z {\IL

=™ i -rTC.: --'[(a/t
J z \/ﬂl\/ ) }
vough g)‘ -4 ) -+

? -—

J 3 (i y) + |

o0 0(* VJ\
j :\ ) Mﬁx

V(\’(/\\j\ a1

b)y=1.5x>+6x-5
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DAY 2 — Solving Quadratics & Quadratic Formula

Solve.
@S(s_x+g)‘(4_f+%)=o 2. (Bx=1)(10x-3)=0 3. =2 +5x+6=0
5 5

- -t -
1061»%&-&3/’):6
20>4\o

X=-6g oad
SN GRE Y E voy
xe3 Do
@ 4a’+12a=59 | notes: ;
l/:"+l:1a+?=© :.1{1 X appears one
F7y 3 - Yndo ng,o\h\w i

(43 )24 3) =0 in SKMDEB ordes

243Y=

Zat+3 =0 i Iie onck , O~ Vow !
Y 2N e Tt Wil
6. 3% +2x=0 i Yepms i
e (;é ow oL YL y b
e A st i AN
E ~ \'\5"“?(:(" o i
' 0w Sswe !
A zﬁ ______ S !
2 olt) (6 x> (& . 2
s.u)gﬁxﬂg:o() @@T—%% *?%hf“:* @ &2 T)s0
TR a0t 0
311'-—L(1— L{ — do ‘FOMI' =2

311-11;/—950 G=F
b @, L

=|
Ia+42fx-2)=0 . ~
3(3 ’3’19( 2) 3(1470(,,_,)=0

pore o B
3y¢2=0 X-z=0
x=-2 @
X=-3, 4
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R 0=x+x-7 12. #-x=5 LONEWNY CNores, | TTTTTTTTTTTTs
VR eI o PSS o
: nte  oxd Wi
x=—b iaL?—— ac ﬁ‘m QP\M)YW 30
- L (omplele oo
201) :
x=-l2 Jl t28 ! &
! G&\x_@ﬂ\ﬁ L Tormul o
X= :'_ﬁ\\{l-ﬂ\\; wes Uoraed B oon ove ides

1,Y,9, 16,25, ;
A %v«‘“;:d

@ﬁ e)(.nd‘ ESe‘ = ~b > :! W -Yoac
v' &

@‘g

A= 2.1 x=-39 }i_“,,,ex{swi | "
(g vz NG WY RO T
2 3 2 B
—sy-I[2y-3)=3
: @-ﬁ) : RCer o)
ro“‘ll‘ % L d,é)' 3)" - IOyl_Hgy_zy +_§ :/3
=0
— z + B
C +?;) _qu "_9_*—’- aj _7
how vmd& “-{P"'f‘""" o="% b= ¢c<O
\gguﬁ/) _2\: J-; ir/

e
()
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DAY 3 - # of Zeros
For each quadratic relation, state the coordinates of the vertex, the direction of opening, and the number of x-
intercepts.
1. y=(@x—27+3 2. y=-20+5>+4 3. y=—(x+1)

verdex (2,3) vaker= (-5, ) vedex (<1,0)

. &r o

dicechon  up U \r owin e . douwn

Sketth 2 v

Co # o) TR0 =

N 0j NONE "‘%j:ﬂ = TWO 4o - ONE

INOTES: To fnd of s Kom Ve ks M,‘defkvé)l‘fzf !
i ¥ k=o e, ra(u‘:o{»\. has  ONE -t focwos i
: o3 "o ond K' are oppesik Sigh  dhen o T O o !
E [ *IF "a// oed //kll are Same “‘\f‘\ %"_’) Nonve :

Find the x-intercepts, to the nearest hundredth; the vertex; and the equation in factored form. o

4. y=3"+6x+4 5. @=-20+4x+7 6. O=-d2+8x—16

suk y=o <) X :

O=3a™tbx+ty 2= =2 () —4(2)3) o= -8 % J(3)-u(kk)
;1~z)

a=3 L=G c=Y al-1)
L RS0 e X . 5295
2(3)
fe oo . x-
[ X2l xi31z A=y oy !

A= 2crov do do $rag -

oone xemt. I @ @ Sinle o,_.b onNg x-at
@ Conve b o watex 'fv»%)z ( 4 o'}vd) Xombs vatx
By ey g (o) o <(40)

w cant Mt JM “:‘l— = 0\()(“(‘)(1'{') o =ty
Gt ek, Sty | C2AE
J: ~1 (X""\)(K'l‘)

Y=\ (x-4)*

INOTES: To dnd  F of tos Fom standacd hom Y= axribxic i
| Distiminad = Undsc rost g BMJ“JI‘\C Remuda = L2- 42, i
i e L*lac= O —> ONE x-wt !
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h k
7. A parabola has a vertex of (1, 8) and one 8. Match each graph with the appropriate
x-intercept is 3. - @ equation.
a) Find the equation of the parabola in the a)y=(@x—-3)7%+2 7 (s fl\ —_—
formy = a(x — h)> + k. sk b)y=(x+1)+4
b) Find the other x-intercept. — s,mNLj ok y= o) y=@x—-172+5
¢) Find the y-intercept. su% x=o d)y=(x+3)7>-
A A A M AL A
\ Vol el ]
| [F A ) [
\ Wl |
1 |
\ 42 [
\ VoA
\ \ o\l ]
\ \ / |
\ s " /
\ /o]
\
\ s/
\ _Leta
c 2
(3,2
AN /
] 4 2.0 8 x
el
ni

. by Soluioms an'}ih!
Q) Writs uadratlc equation in the form ~ » m daiwmals
ax® + bx +e= 0, where a, b, and c are integers

d tl ‘ 1 d—g
an are S and -2
Soluhons
st with y= &(X- P)(X '{')
T o O )i
chosse @ o male Kuchuns clisappeor
azlIs
- 1) %)
Y= (s2=1)(3x+2) ~ foit.

]O' I 4+ Fe -2 S

10. Write a quadratic equation in faciored form. Ql) Find the value of the co-gfmt so that there is
b

— 42 _
using integers, the roots of the equation are % énly one zero\ y=—4x 10
and -5. discrim = ©

b*-hac=0
- ylu)om)= o
™ —160=0
b= leo
L= i\ﬁ&; 7

* b=yl & b= - \Teo "
then \eoﬂJ"’(‘* will have ore yoint.
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DAY 4 & 5 & 6 — Solve Word Problems WITH Equations Given

NOTES:

If you see “initial”: «P,}\d -—;"n’t’ "ptv S'ILEMG(WJ - ,LooQ at ’é//
‘7 ofor othrs — b x=o0

If you see “maximum” or “minimum”: .—Fw W ¥ ‘(N»\ _:;ear,'b See pmo, S
’E\'\A VQ(‘l'()k ((Mji or*)\vd) o-ﬁ,, stand a,d "(rru—. —y (_Dw\)yb/{'( 5%%

) o for factwed foom =» Kus o a.oft

Han WJ' vad.

1
1
1
1
1
1
1
1
1
1
1
1
1
1
i
1
OTHERWIE sub in given vedines o fachwed foon > cusily seem. :
ond oy o And s SroWE e em > iselal kg JAmbed
o slondowd foom — Fache F it works |
( bt-uac = 1,99, /6, ) i
1. The flight of a baseball is modelled by
_ 2
y=—49x"+9.8x+14.7 where x is the time, in
sec, and y is the height, in m, above the ground.
a) What is the initial height of the ball?
b) What is the height of the ball 0.5 seconds after it
was hit?
c) How long does it take for the ball to reach the

ground?
d) Find the maximum height.

QuadEqtn Page 8



9|Unit 5 10D Date:

Name:

2. A regular polygo as n(nz— 3) - J. @ The path of a soccer ball can be defined by the

7 relation i = —0.025d > +Id, Where h represents
diagonals. Find the number of sides of a

the height, in meétres, and d rrepresents the
regular polygon that has 44 diagonals. horizontal distance, in metres, that the ball
M Ol /4( 4 Aiagon s travels before it hits the ground.
7 j a) Find the d-intercepts—> X- -t ”ilcn,,
b) Sketch a graph of the relation.
s d =Y

¢) For what values of d is the relation invalid?

& Explai
© xplain. — varkex j_wﬂw
3¢ 09 §rd) What is theight? />
NICORTTONRS L <
i

e) How far will the ball have travelled
(

orizontally at its yiaximus
\n(p\_v,)zf? 248 ;sﬁ«"@ 10754

oy T
Y\q'—sén—é;jf’:o ¢ X %\“q-\s ~0.0234:0 . d-to=o0 1 5
- o %WW“ —oas O =40 )ad-kF ar O AN
Q‘—'“Xh—{-S);O \L Mvz- h%\:)'o— =2 @ o
(oe
w=I\ y»z/ hﬁf”‘"'%ﬂ’)@ h A

. » s gonad
or YMSOA with ¥y di J s

has | sides.
4. Sipapu Natural Bridge is in Utah. Find the

ol = Swk 20 W
f _0.02%(2s) 20- 4s)

-QJJZT('L\\)("M)
= IU
horizontal distance, x, in metres, thi —
natural arch at the base by s folifngifesiquﬁﬁon@? }f Z 5%1 4
7-\-0.‘951x2 - 1g6x+328=0. !
'}\”o = N J [
A= [ got JCls) = yfoor)(3.28) © Vﬁ‘l’ "‘A“;, du Yo
s N
Q(.O.OL[) O 45{ Z [fo
_ =- Y T
x= |56 + (7255 =" .
fw% X= 2 @ o Max kg B 1Om
A1 I.562 AT @ 'iH' 1 ,,!Q.J 20 rm~ l“”ﬁ“%
—0.0% acrost igg 74, el L~¢17
{’:.\ 0V :o \{?) M*M
\,,\*d ACcosS
yeRranke:
9
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5. The path of a skydiver can be modelled by the 6. A textbook falls from the top shelf of a shaky

relation i = — 40¢* + 6000, where h represents the bookcase. The path of the book can be modelled
height of the skydiver in metres, and  represents by the relation z = — 97 + 90, where & represents
time in seconds. the height of the book above the floor, in
a) From what height does the skydiver jump out of centimetres, and 7 represents time in seconds.
the plane? a) What is the height of the top shelf?
b) How long does the skydiver take to reach the b) How long does it take the book to reach
ground? the floor?

@ A supporting arch of a bridge can be represented CS) A rectangle has dimensions x + 11 and
—-0.0625x" +9_ 2x + 5, both measured in centimetres. Determine

by the quadratic function Y = . .
~0.0625(x%0) 49 2
where x is the horizontal dlstance (in metres) and the value of x so that the area is 117 cm”.

y is the height of the arch (in metres).
a) Whatis the vertex of this parabola?

b) What is the @I‘Ee’_g'ﬁ__ofm ) va.Qw-L
c) If the x-intercepts represent the beginning and the L=2u¢€ \n, (2 @ )
end of the arch, how wide is the base of the arch Soole sos
o b As °
%) vedex= (o0 9) o o
. = T —
D) o max haight 35 T O= 2™« 53 ps5 ~ It
O= > + 2¥x -6 hor M ¢
= - < 1
c) o ‘G\.J X-\\\lf ) 9~(|‘.7 L WV“\\ ’ﬁ:-u,wt‘?,;r

O= l =2F c=-62
9 & SAMDER b ng— sm« BT padee?

w= xxll

k3
o:-o,omw < 5o > Facter, W}w
00 Focreiln, §9 '*‘;'f’ Jn.
~9= -ooEIs At Ok Quedheme = - = @) -yl o S’ﬂ
—0.0625 Shliied &)
4&’[,1/:? = -3 *\Ooas
X by SIS RIS
A= -2+ 3%
4|2=2 —
A= - 33435 X=-23-35 10
[P -{_\Z. 'L- { -—r‘
\T‘“ o nltence s w‘z;)fnv;i’ 1= % X= Ecx
» . . ; L=2(-l69s 5=
e ~’H“L /Q>Q$‘L 1$ Q\‘fm w\&i . velio 3, %7 X--S\ J a:w‘}%sj

oo only X= Zagives Mﬁj HFen>
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Boleace w accounk

ily restaurant has daily expenses that can be
odelled by the quadratic relation

=47 — 28t + 40, where C represents the total cost in

9. Michael owns a trampoline. He wants to see how @
high he can jump. The path of one jump can be
modelled by the relation 2 = — 47 + 80t + 12,

where / represents Michael’s height above the dollars, and ¢ represents the tlme in hours
ground in centimetres and 7 represents time in the restaurant is open.
seconds. a) Whatis th@ cos(' ty running the restaurant
a) What is the height of the trampoline? each day?
b) What is the maximum height Michael reaches? b) What is the number of hours the restaurant is open
¢) How long does it take Michael to reach this for this riinimum cost?  veAex K-valie
height? c¢) Whatis the cost per day when the restaurant is Got)
d) What is the height at 2 seconds? @for business? ¥=1=0
e) How long would it take for Michael to reach a d) How many hours was the restaurant open if the
height of 348 cm? total cost per day was $160?
e) Whatis the cost per day if the restaurant is open for
8 hours?

@) fud vedon Ay omplds 5
C= L,Q, zxx ) +40
C- L{[;c ?x*‘-&%’ 42 )+ 0
rnw’;L" 'i;z _ R o
) 9+
C.. ’1( Q) 7\» WA—{,‘ (3§ —‘K)

-ao MMW#\\A;«\ La?" T |
m‘ﬂ\‘j Dol I""J"“h

k) 'FN mMmWn (oﬁ’ r‘J’q’A\ArM\' k1S '}b)‘(
oirn for 3.5 howes
C) SDJO X=0 —> not- optn , N0 Sh .
C=y(o) -2s5(c)+%0
C=yo o (it is Yo of Los.
fA]' 7 Cc}"’-
A) sub C=160
160\_,‘“1’2““"’ -/
O=< Yyr-28x =20

= 28 irew)‘—ww)(—w

2(y)
X= W1 59 _»*F
g ™~ o=

2, ot 10 hows (osi“ ‘/60-

Q) C l{() 2?(‘25\“!0 ¢ 1

——'Ilz oo Cost s I ot S}\owf.

oo
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11.)A model rocket is launched from the deck and the
path followed by the rocket can be modelled by
the relation h = — 5t + 100t + 15, where h, in
metres, is the height that the model rocket reaches
after tseconds. =0 oyt

a) Whatis the height of the rocket?

b) What is the height of the model rocket after 2 s?

c) What is the@aximumyheight reached by the
model rocket? VeAex y-vedie.

d) When was the rocket at a height of 200m?

e) How long was the model rocket above 200 m?

f)  When did the rocket land on the ground?

&) R § ku*jk)\— was S mm
Y oswe t=2
b= —S(Q)*+ o) HS
h=-5(4) + 2004/

— 20

h= |35 .
St Qe recket was M5 m /@‘ﬂ\ .
) ok user:
h- “F%U‘—Zotﬂoo—wo 115
-5 ‘E"' ZQ-\,—-{»}:") —(0(5) +IF
3 -1
<-5(+ =)o )”—rsp{

Vetex (io,(")
or MaX Lgrﬂkl’ % 51S -

Name:

@ sub h=200

Q00 = —S1T4(0t HIS,
05 “Hslh va";mmv’“'

oK
o))*H5Is

peer Y

ShMDES

4= G +lo

t= 206

= G2 4100

+= 139y
S Yok veacker 200m
ot 2.06 sec (ov\‘H-'» Wy "'r)
Sl wos alove 200 odk ok .91 sec (wv_,ayo(,ou./h)
o. YDC W 0
for 15,68 sec
& sh heo o _ G
Zls (ko) 4SS (e AT s .
S A (o=t
~ Q5= =5 (+-(0)™ IVl (0= = |
- s +Taz 410 ‘)0 To s ™ g
;;3" (t-e) 4205 7<0.S At 0.8 sec.
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DAY 7 & 8 & 9 — Solve Word Problems WITHOUT Equations Given

> % Coming | R _
evenue Problem g Cost ﬁ Coming 0wt
gie sold 1200 tickets for the holiday | Probit = Revenwe < (Cost
concert at $20 per ticket. Her committee is

planning to increase the prices this year. Their wnu = (price \LQI&\ )
research shows that for each $2 n-cﬁmsw in the KQ ¢

price of a ticket, 60 fcw_’cr tickets will be sold.

a) Determine the revenue relation that 09 ./67(' R J’L revehune '7‘177-4
describes the ticket sales. nev ¥, ot R /&i' X ‘j,( # S ¢ 2
e }y :

b) What should the sellingrice)per ticket be jo“ (e ase

to@reven 7 vectex
R: (%O’f' D\xk%oo -QO%

¢) How many tickets will be &())(ld at the
origmad Ms\‘m?

aximumrevenue? "
prie aom\\‘y

d) at 1s the fnaximumrevenue?

% ) 0= (2042 ) r2o0-6ox)

- A2
A 20%x= 0O Jzoo - 6ox= Q .
;;"”quv} \Z)(tjo —(OX= -0 e Vedr j?c\»l:',\t-\( Squov
204 X= —(0 7AND @ L
KT/ 1\1000 _\100* 4 2\'\00)( “\u*
g<\w3\l a‘[,jg—_ —lo41® :%: 3 ({__ 120 A \L00% 3724000
Lo Hy < T - s -2 ) ¥ 2Uoeo
ogtvel = 21094’ (5@( no‘ff‘flw) R o b‘ LH > \>
< (30 (100 R -\1o (£ - 5 ) 4 T¥000
- 43000 d
vartey ( S, 1‘r°°°)
x
Rav.
X
Bk aded
We = 20t 2x
= 204 2(5)
=730
.o, M Yevenwe I

c wonhy = |200-60X
) b g = 1200 - 60(S)
—= 900

0o 100 bt will ez Hvend
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Y€

20cCh
ence/Rope off an Area Problem @ Suppose thatm wire is bent edrom
2. )For a park swimmingjarea, 840 m of line is used to construct a’rectangle. Use a g ratic@ﬁ

to mark off the permissible area. One side not determine the dimensions that will give an area of

roped off is next to the beach. Find the dimensions 24 cm?
of the swimming @rea that will make it a
aximum. /ZJL A j( dea W W
QQM,L\

L

- © = W qu ~ peomste

A= LW

QMJ'. ﬁ - (890 -aw W)
[‘.?ﬁ\uabumm <YW - dw”
od o«Nj 2 Uw‘wj

Swee Ay sayjing "max " ~» vatex.

"ﬁk,i ..

2

now (\;:.o.n) (05\‘4. o
ho “inchd /ey fmin

Wie fow a4 =0 3w
A=~2w7‘—|»?‘100J+O :ﬁ
A--a(wr = Yaow+ by e )40 ( W~ g)(w,y)‘ ©
fr=-2 Q,J -20)”
i X ) T wEzeo w-nf 6 AND Y
\ka(.?m ?szot) Sy . X
/ /
YA Zlo-w LTS
With  ocew L= ( L=1(0-1

L=
L=

0_..
91:) ‘H‘t HQOM }_ﬂv /y\ax 0A . L(
\AJ\ 'H\ - 2(0 m 2° ‘A( A ren 2(1 t‘h-L
ol)\m&n&uw wu& J"
b
=l W OR | = §4o-2w Hem o CM14
33/7'“0._ /_-;L X‘(O"Z(l{u)
2o | W
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Geometry Problem
4. The hypotenuse of a right triangle measures

20 cm. The sum of the lengths of the legs is
28 cm. Find the length of each leg.

Frame-Border Problem
A picture that mea urep 10 cm by 5 cm is to
be surrounded by ah&.

the width of the mat?

R ﬂ /’(,g( areo
| 4

a3 1 -

05) =) =52
l

(1204102 +50 =50

x=-30% 30'*—-11(‘()(-109
2Av)
A= =30 ¥ Jasov
3
1= -30 250

¥ .
c»t{g‘w

.,“,“H—i widhh 2S5 e

QuadEqtn Page 15

e”f‘he mat is to be the same
width on all sides of the picture. The area of the
mat is to be twice the area of the picture. What is

Name:

5. A rectangular skating rink measures 30 m by
20 m. It is doubled in area by extending each side
of the rink by the same amount. Determine by
how much each side was extended.

Yolume Problem
A rectangular piece of tin 50 cm by 40 cm is
made into a lidless box of base area 875 cm? by
cutting squares of equal sizes from the corners and
bending up the sides.

a) Find the side length of each removed square.

b) Find the volume of the box. AN A S arte
/IH: X
- W= To-2x
L= Yo-2x

zlwW

535 = ((ko-250-2)
§YL = 2000 — §OX — 00 + bx>
0= Y2* —lgon + RS

X = +180 2 [C1s0) - u(y Y nar)

alw)

"} fnd

A= (502 JTvyoo . W of comer
¥ " was .S m
4= (& ¥ 120 15
- \ = (Yo-2(33) ) (7<) (S0~ 2[5
EZ %’M‘ . (A=3s \J= LJS XWS)(JS)
& nte Lok oo Vz (56T, cmd

i the vylune
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Translate English to Math Problems Falling object Problem
8. A triangle has an area of 308 cm”. If the base is 2 ( 9.) A model rocket is launched from the deck that is
cm more than three times the height of the 15 meters high, with an initial speed of 100 m/sec.

triangle, find the base and height of the triangle a) What is the equation that would model this?
b) What is the height of the model rocket after

257

¢) What is the maximum height reached by
the model rocket?

d) How long did the model rocket take to
reach this hei

Tobwss e g Flling dbject dded
,QJ %Nw'\\y.
h=-yg9a+Vx +¢

W\J Ln‘gn‘

"g W= = 495 + wox + 15
\:) h=-44 (Z)L'f /Oo(z)"'“_ BEDMAS

> kf‘ Hgl'f > n 2 P i Y
10. The@of the sq%lar)es of four consecutive l e L" Wi 1S m
integers(_[s,630. Find the integers. C)l\:<" ,1 q o>+ (00 7() 4 1€
At 1 A P numbs 00 Sw Thg 0 -
b il e el (X4 Q(J/“ L\e_q,q@a _ 20,405 + 104,123 —I°‘1.I73)+/?
R U g4 A x| v
W M3 L\: 2 “hal-wyns) 15
*"tﬁ(X - .2 ) +525.2
G30= X"+ [xel)+ [redf + :{?E%Ei}:-: vectex (10.2,525,2)
630 x* “ate2aal + HenE o t\u‘gH’

o et MR(JH’ was S96. 2~

A) 4 eockes wak oF (0.2 sec.
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Revenue Problem
11. A harbour ferry service has about 240 000 riders
per day for a fare of $2. The port authority wants
to increase the fare to help with increasing
operational costs. Research has shown that for
every $0.10 increase in the fare the number of
riders will drop by 10 000.
a) What is the revenue equation that will represent
this?
b) How many times should the fare be increased to
maximize the revenue? (show two methods)
¢) What is the new fare that maximizes the
revenue?
d) How many riders are needed for the maximum
revenue?
d) What is the maximum revenue?
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